Appendix B - Lead School Combination

FSA Modernization Program
NSLDS Il Reengineering
PDD: P-CDR-1

Rt Rate DL DL |FFEL| FFEL |Dual| Dual
SCH| YR | Type | SubType| NUM |DENOM| NUM | DENOM|NUM|DENOM Comments
Lead Do not calculate Average because 2 years of history does
School 33291997 A A 0 0 0 5 0 0 not exist.
1997 A P 0 0 0 24 0 0
Do not calculate Average because 2 years of history does
1998 A A 0 0 0 4 0 0 not exist.
1999 A A 0 0 2 14 0 0
1999] A B 2 23 2 23 2 23 |2+0+0 = 2; 14+4+5 = 23
1999 A P 13 67 13 67 13 67
2000 A A 5 14 3 15 7 27
2000 A B 20 84 20 84 20 84
2000 A P 38 146 38 146 38 146
2001 A A 3 17 1 8 3 23
3+7+2+8+7+6+2+4+2 = 41 = Numerator
2001 A B 41 164 41 164 41 164 [23+27+14+22+16+25+12+14+11 = 164 = Denominator
41+11+9+3 = 64; 164+27+34+15 = 240 = Lead School
Combination Rate, Note: Current year actuals are not
included for Underlying Schools when computing the
average for the Lead School, but are included when
2001 A P 64 240 64 240 64 240 [calculating the final Combination Rate.
Underlying Do not calculate Average because 2 years of history does
School 20291997 A A 0 0 0 1 0 0 not exist.
1997 A P 0 0 0 0 0 0
Do not calculate Average because 2 years of history does
1998 A A 0 0 0 1 0 0 not exist.
1999 A A 3 12 5 15 7 16
1999] A B 7 18 7 18 7 18 |7+0+0=7; 16+1+1 =18
1999] A P 0 0 0 0 0 0 Set underlying school to 0.
2000 A A 8 22 0 0 0 0
2000] A B 15 39 15 39 15 39 |8+7+0=15;22+16+1 =39
20001 A P 0 0 0 0 0 0 Set underlying school to 0.
2001 A A 11 27 0 0 0 0
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2001 A B 26 65 26 65 26 65 |27+22+16 =65

20011 A P 0 0 0 0 0 0 Set underlying school to 0.
Underlying Do not calculate Average because 2 years of history does
School 32371997 A A 0 0 0 2 0 0 not exist.

1997 A P 0 0 0 0 0 0

Do not calculate Average because 2 years of history does

1998 A A 0 0 0 0 0 0 not exist.

1999] A A 1 6 2 7 2 12

1999] A B 2 14 2 14 2 14 |2+0+0 =2; 12+0+2 =14

1999] A P 0 0 0 0 0 0 Set underlying school to 0.

2000] A A 3 15 4 13 6 25

2000] A B 8 37 8 37 8 37 |6+2+0 = 8; 25+12+0

20001 A P 0 0 0 0 0 0 Set underlying school to 0.

2001 A A 7 20 3 14 9 34

20011 A P 0 0 0 0 0 0 Set underlying school to 0.
Underlying Do not calculate Average because 2 years of history does
School 3277(1997( A A 0 0 0 1 0 0 not exist.

1997 A P 0 0 0 0 0 0

Do not calculate Average because 2 years of history does

1998 A A 0 0 0 0 0 0 not exist.

1999] A A 2 7 1 5 2 11

1999] A B 2 12 2 12 2 12 |2+0+0=2; 11+0+1 =12

1999] A P 0 0 0 0 0 0 Set underlying school to 0.

2000] A A 3 9 2 6 4 14

2000] A B 6 25 6 25 6 25 |4+2+0=6; 14+11+0 = 25

20001 A P 0 0 0 0 0 0 Set underlying school to 0.

2001 A A 1 10 3 8 3 15

2001 A B 9 40 9 40 9 40 [3+4+2 =9; 15+14+11 = 40

2001 A P 0 0 0 0 0 0 Set underlying school to 0.
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